Приложение № 5.

№
Решите уравнения. Вариант №1.
Варианты ответов



1
2
3
4

1
5 х – 1,2 = - 7,4 


1,24
- 1, 24
1,72
- 1,72

2
4 х – 2 = 18


4
- 5
5
- 4

3
7,2 – (6,2 – х) = 2,2


1,2
-1,2
3,2
- 3,2

Ответы

№
Решите уравнения. Вариант №2.
Варианты ответов



1
2
3
4

1
- 5 х – 2,3 = - 0.4


0.54
- 0, 54
0, 38
- 0, 38

2
3 – 4 х = - 13


2,5
4
-4
- 2,5

3
- 5 + (у – 25) = - 4


34
- 34
26
- 26

Ответы:

№
Решите уравнения. Вариант №3.
Варианты ответов



1
2
3
4

1
- 1,9 х + 2,8 = 2, 572


- 1,2
0,12
1,2
- 0,12

2
5 х + 4 = - 16


-5
5
2,4
-2,4

3
(х + 3) – 17 = - 20 


- 6
6
-37
40

Ответы:
